Division par 10% (I)

Trouvez chaque quotient.

9,1562 + 10% = 2,78 ~ 102 =
4,806 ~ 10° = 5,13 + 10% =
6,33 + 10% = 6,5596 +~ 10% =
4,36 + 10% = 7,986 =~ 10%2 =
1,742 +10% = 1,33+ 10%2 =
1,374 =+ 10% = 5,65+~ 102 =
2,687 +10% = 1,9988 + 10% =
8,3 +10%= 8,69 ~ 102 =
5,7102 + 10% = 9,07 + 10% =
8,81 + 10% = 9,9871 = 10% =
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Division par 10* (I) Solutions

Trouvez chaque quotient.

9,1562 + 10* = 0,091562 2,78 +10*=0,0278
4,806 + 10° = 0,04806 5,13 + 10*=0,0513

6,33 + 10> =0,0633 6,5596 + 10% = 0,065596
4,36 + 10* = 0,0436 7,986 + 10* = 0,07986
1,742 + 10%>=0,01742 1,33 +10*=0,0133
1,374 = 10> =0,01374 5,65 + 10° = 0,0565
2,687 + 10* = 0,02687 1,9988 + 10% = 0,019988
8,3 + 10%>=0,083 8,69 + 10% = 0,0869
5,7102 + 10%>=0,057102 9,07 + 10% = 10,0907

8,81 + 10% = 0,0881 9,9871 + 10% = 0,099871
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